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QUESTION 1

In your ETL application design you have found several areas of common processing requirements in the mapping
specifications. These common logic areas found include: code validation lookups and name formatting. The common
logic areas have the same logic, but the jobs using them would have different column metadata. Choose the action that
gives you the best reusability design to effectively implement these common logic areas in your ETL application?

A. Create parallel routines for each of the common logic areas and for each of the unique column metadata formats.

B. Create separate jobs for each layout and choose the appropriate job to run within a job sequencer.

C. Create parallel shared containers and define columns combining all data formats.

D. Create parallel shared containers with Runtime Column Propagation (RCP) ON and define only necessary common
columns needed for the logic.

Correct Answer: D

QUESTION 2

Which partitioning method requires a key?
A. Same

B. Modulus

C. Sort Merge

D. Round Robin

Correct Answer: B

QUESTION 3

Which two statements are true about Data Sets? (Choose two.)
A. Data sets contain ASCII data.

B. Data Sets preserve partitioning.

C. Data Sets require repartitioning.

D. Data Sets represent persistent data.

E. Data Sets require import/export conversions.

Correct Answer: BD
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QUESTION 4

Configuring the weighting column of an Aggregator stage affects which two options. (Choose two.)
A. Sum

B. Maximum Value

C. Average of Weights

D. Coefficient of Variation

E. Uncorrected Sum of Squares

Correct Answer: AE

QUESTION 5

Which job log message heading identifies the score in the job log?
A. OSH script ...

B. main_program: orchgeneral: loaded

C. main_program: Broadcasting score.

D. main_program: This step has 3 datasets: ...

Correct Answer: D
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